

Study the Impact of COVID-19 on Epidemiology of Orthopedic Related Trauma

Amaresh Prasad Mohapatra^{1*}, Satyajeet Ray², Gopal Krishna Hembram³

¹Assistant Professor, Dept of Orthopaedic, Govt Medical College, Sundargarh, India

²Associate Professor, Dept of Orthopaedics, Govt Medical College, Sundargarh, India

³Assistant Professor, Dept of Orthopaedics, GMCH, Sundargarh, India

***Address for Correspondence:** Dr. Amaresh Prasad Mohapatra, Assistant Professor, Dept of Orthopaedic, Govt Medical College, Sundargarh, India

E-mail: amaresh47m@gmail.com

Received: 19 Feb 2024/ Revised: 08 Mar 2024/ Accepted: 16 Apr 2024

ABSTRACT

Background: The orthopaedic trauma cases during the lockdown period changed from being frequent, high-energy, and potentially fatal car and road accidents to being low-energy, household, and general injuries such as falls, fractures in children (especially in older patients), cuts from sharp objects, and nail bed lacerations. The subsequent article determines the influence of COVID-19 on orthopaedic surgeries and their epidemiology during the lockdown in many countries.

Methods: This observational study was conducted at a tertiary care center, India's Medical College, using hospital records to validate admissions and discharges. Patients visiting the orthopedic emergency room with new injuries for tertiary care were included. Patients referred from other departments or for follow-up were excluded. Patients were categorized based on COVID-19 lockdown phases. Data collected included demographics and trauma-related information. The study, being database-based with no identifiable patient data, didn't need formal ethical approval.

Results: The study compared fracture rates between a 2020 epidemic group and a 2019 control group. Statistical analysis revealed no significant differences in fracture rates during each assessment stage. However, considering the entire assessment period, the epidemic group had significantly fewer fractures than the control group. Demographic data and fracture patterns were analyzed, with "n.s." indicating no significant differences between groups. Despite some age and fracture site variations, many characteristics remained consistent between the epidemic and control groups.

Conclusion: Even though there were few orthopedic-related fractures during the pandemic. The present study has concluded that a significant death rate resulted from treatment delays.

Key-words: Community, Epidemiology, Orthopedic trauma, COVID-19, World Health Organization

INTRODUCTION

The study of epidemiology aims to ascertain the impact of illnesses on the general population as well as health consequences. In epidemiology, patients are seen in the community and people in groups. Epidemiology is the scientific, methodical, and data-driven study of the patterns or frequency (distribution) of illnesses, health-related occurrences, and conditions in specific

populations (schools, communities, states, cities, countries, or the globe), as well as the risk factors and causes (determinants). The purpose of this study is to control health difficulties ^[1].

The world was shocked by the unique and highly contagious COVID-19 coronavirus, and the World Health Organisation promptly proclaimed it a worldwide epidemic or pandemic. To stop the spread of illness, governments, and health-care organizations from all over the world have implemented stringent lockdowns in several nations. The Indian government imposed a brief countrywide lockdown starting on March 24, 2020. Phased restoration of the services began on June 1, 2020, with "unlock 1" being the first. The lockdown had caused a discernible reduction in movement in the

How to cite this article

Mohapatra AP, Ray S, Hembram GK. Study the Impact of COVID-19 on Epidemiology of Orthopedic Related Trauma. SSR Inst Int J Life Sci., 2024; 10(3): 5434-5440.



Access this article online

<https://ijls.com/>

general population, and it was anticipated that this would have an impact on the epidemiology of trauma connected to orthopaedics ^[2]. We examined the consequences of COVID-19 and its limitations.

Orthopaedic trauma comprises significant damage to the muscles or skeleton brought on by external force, such as a vehicle accident, slip and fall, or traffic incident. Although these injuries typically do not result in death, they can nonetheless have an impact on daily life ^[3]. A competent orthopaedic physician is necessary for certain injuries, whereas an emergency room visit is not necessary for others. When an external force is applied to joints, bones, and soft tissues, orthopaedic trauma occurs ^[4]. Orthopaedic injuries such as tibial stress fractures and tiny cracks in the lower leg can also result from long-distance running. Therefore, orthopaedic trauma is a general phrase that encompasses a variety of injuries ranging from minor breakages to fatal mishaps. To heal broken body parts as soon and effectively as possible, orthopaedic surgeons specialise in treating a variety of injuries ^[5].

Physical aggression, falls, auto or motorcycle accidents, natural catastrophes, and sports-related injuries are common causes of orthopaedic trauma ^[6]. A few others are also more prone to injuries than others, such as older individuals with osteoporosis. This condition causes the body to lose bone density and increases the risk of bone breaking in a fall compared to young adults. Orthopaedic injuries also occur often. Orthopaedic trauma is not life-threatening, yet it still requires medical attention. Physicians that specialise in orthopaedic trauma may handle a variety of common injuries, including stress fractures (a tiny split in the bone), dislocations (any joint that comes out of its place), open fractures (when skin is damaged by a broken bone), and closed fractures (when a broken bone does not break skin) ^[7,8].

MATERIALS AND METHODS

Research Design- This observational study was conducted in a tertiary care hospital called Medical College in India. The information obtained from the hospital records department was used to validate the daily hospital admission and discharge records from wards and emergency rooms. The study's inclusion criteria were satisfied by every patient sent for tertiary-level care or who showed up in the orthopaedic emergency room with fresh injuries. Patients referred

from other departments within our organisation or making follow-up presentations were not included in the research.

Pre-lockdown patients (those hospitalized before March 2020), lockdown patients (those admitted between March 1 and April 31, 2020), and post-lockdown patients (those admitted on May 1 or after) were the three categories of patients depending on the evolution of the COVID-19 epidemic.

They provided their demographic information (age, gender, and residential address) and epidemiological characteristics linked to trauma (anatomical location, kind, and pattern of injuries, including fractures (open or closed), dislocations, and soft tissue injuries). Because the study was only a database-based observational study with no revealed identifiable patient data, it did not require formal institutional ethical approval. Those with a history of fracture signs and injuries were requested to have their body temperatures checked before the evaluation, and any concerning symptoms (including fever, coughing, or respiratory issues) were noted. If the patient had come into touch with a COVID-19-positive person in the previous 14 days, either directly or indirectly, or had symptoms that were in line with the virus ^[9,10]. All patients underwent detailed interviews on their traumatic past. In cases where the patient's history or clinical symptoms did not correspond with the COVID-19 virus, any required imaging tests were carried out. Routine laboratory tests, liver and kidney function tests, coagulation indicators, and extra imaging investigations (chest X-ray or chest computed tomography) were carried out if the suspicion of a fracture was verified and hospitalization for surgical treatment was necessary. In addition, an oropharyngeal swab was used in a polymerase chain reaction (PCR) test to identify COVID-19. Until these tests were completed, the suspected patient was held alone in an isolation unit ^[11,12].

Inclusion Criteria

- ✓ Patients sent for tertiary-level care or presented in the orthopaedic emergency room with fresh injuries.
- ✓ Patients admitted to the Medical College tertiary care hospital in India.
- ✓ Patients admitted during the specified periods: pre-lockdown (before March 2020), lockdown (March 1

to April 31, 2020), and post-lockdown (May 1 or after).

- ✓ Patients, who provided demographic information (age, gender, and residential address) and trauma-related epidemiological characteristics.
- ✓ Patients with suspected fractures, dislocations, or soft tissue injuries.
- ✓ Patients willing to undergo body temperature checks and screening for COVID-19 symptoms, including fever, coughing, or respiratory issues.
- ✓ Patients, who had come into contact with a COVID-19 positive person in the previous 14 days or exhibited symptoms consistent with the virus.

Exclusion Criteria

- ✓ Patients referred from other departments within the same organization.
- ✓ Patients making follow-up presentations.
- ✓ Patients with a history of fracture signs and injuries who refused to undergo body temperature checks or COVID-19 screening.
- ✓ Patients with clinical symptoms suggestive of COVID-19 but whose history or clinical symptoms did not correspond with the virus and refused further evaluation or testing.

- ✓ Patients who did not consent to detailed interviews regarding their traumatic past or refused additional imaging tests when deemed necessary.
- ✓ Patients who did not undergo routine laboratory tests, liver and kidney function tests, coagulation indicators, or imaging investigations when deemed necessary for fracture confirmation and surgical treatment planning.
- ✓ Patients who refused oropharyngeal swab testing for COVID-19 using polymerase chain reaction (PCR).

Statistical Analysis- The Statistical Package for Social Sciences Software for Windows (SPSS), version 21 from IBM Corp., NY, USA, was used for analysis. All the data was compiled into a Microsoft Excel file. The Chi-square test was used for the cross-tabulation evaluation. The unpaired t-test and one-way ANOVA were used to compare the means of two or more groups. P-values were considered statistically significant if they were less than 0.5.

Ethical Approval- The study obtained ethical approval from the hospital's Ethical Committee (Govt Medical College, Sundargarh, India).

RESULTS

Table 1 presents the number of fractures observed during each assessment period cluster for the epidemic group in 2020 and the control group in 2019, along with the proportional variations and associated p-values. In the pre-lockdown phase, the epidemic group had 14 fractures compared to 20 in the control group, showing a slight increase of 4.3%, which was not statistically significant (n.s.). During the lockdown phase, the epidemic group had 16 fractures, while the control group

had 30, indicating a notable decrease of 32.9%, again not statistically significant (n.s.). Similarly, in the post-lockdown phase, the epidemic group had 30 fractures compared to 40 in the control group, with a slight increase of 4.9%, also not statistically significant (n.s.). Overall, when considering the total fractures across all assessment periods, the epidemic group had 60 fractures, while the control group had 90 fractures, resulting in a significant decrease of 8.6%.

Table 1: Quantity of fractures for every assessment period cluster and the proportional variations between the two research groups

	Epidemic group (2020)	Control group (2019)	Difference	p-values
Pre lockdown	14	20	+4.3%	n.s.
Lockdown	16	30	-32.9%	n.s.
Post lockdown	30	40	+4.9%	n.s.
Total	60	90	-8.6%	

p-values less than 0.05 were deemed statistically significant. n.s.: not important

Table 2 presents comprehensive demographic data, fracture patterns seen in the epidemic group (2020) compared to the control group (2019), and a relative statistical comparison of the two research groups. The "n.s." denotes the absence of statistically significant differences for the specified parameters between the

groups. Overall, the epidemic and control groups differed significantly in terms of mean age and some fracture sites. However, several demographic and clinical factors did not differ significantly between the two groups.

Table 2: Demographic details and patterns of fractures, with relative statistical comparison

Parameter	Epidemic group (2020)	Control group (2019)	p-values
GENDER			
Female	40 (66.7%)	62 (68.9%)	n.s.
Male	20 (33.3%)	28 (31.1%)	
MEAN AGE	73.7 ± 19.9	67.8 ± 26.9	0.0444
EMERGENCY DEPARTMENT- ADMISSION TIME LAPSE	0.9 ± 0.8	0.9 ± 0.7	n.s.
LENGHT OF STAY	12.8 ± 9.0	8.7 ± 8.8	n.s.
FRACTURES LOCATION			
Clavicle	0	2 (2.2%)	n.s.
Scapula	1 (1.7%)	0	
proximal humerus	4 (6.6%)	10 (11.1%)	
humerus shaft	1 (1.7%)	4 (4.4%)	
Elbow	4 (6.6%)	2 (2.2%)	
radius and/or ulna shaft	1 (1.7%)	2 (2.2%)	
Wrist	1 (1.7%)	4 (4.4%)	
Hand	1 (1.7%)	0	
pelvis/acetabulum	5 (8.3%)	1 (1.1%)	
proximal femur	22 (36.7%)	32 (35.6%)	
femur shaft	5 (8.3%)	4 (4.4%)	
distal femur	0	1 (1.1%)	
Patella	2 (3.3%)	3 (3.3%)	
proximal tibia	3 (5%)	2 (2.2%)	
tibia shaft	3 (5%)	4 (4.4%)	
Ankle	4 (6.6%)	15 (16.7%)	
Foot	3 (5%)	4 (4.4%)	

*p<0.05 is the level of significance; n.s, Not Significant.

DISCUSSION

The impact of the COVID-19 lockdown on the epidemiology of orthopaedic trauma cases in global health-care systems has been elucidated in this study. Numerous books about COVID concentrate solely on the virus itself. However, there aren't much research that concentrates on this pandemic's epidemiology. Since fractures represent a significant cost to society and the health-care system, they merit special consideration ^[13-15]. The main outcome of this study implies that the

epidemiological patterns in orthopedic patients have been altered by this outbreak ^[15,16].

Past studies have shown that the impact of COVID-19, including a decrease in trauma cases, and due to lockdowns, there was 90% reduction in orthopedic-related trauma. This occurred due to lockdowns, non-urgent traffic, reduced vehicles on the road, and the absence of events like sports events. However, the reports show a substantial increase in home-related injuries ^[17-20]. There was a delay in seeking medical attention during the pandemic times. People could not



get to medical facilities quickly due to lockdowns or fear of contracting COVID-19 ^[21]. During this time, elective surgeries were intentionally not done by the surgeons. A troubling pattern that emerged throughout the epidemic was the postponement of significant injury presentations, especially in the older population ^[22-25]. For example, patients with hip fractures frequently put off getting treatment because they were worried about getting COVID-19 in a hospital. The significance of prompt access to orthopedic care was underscored by the higher incidence of complications and mortality that followed these delays. Furthermore, the pandemic had a major financial impact on orthopedic surgeons and health-care facilities due to a sharp decline in elective surgery, which resulted in significant revenue losses ^[26]. During the pandemic, telemedicine proved invaluable, and several orthopedic departments have integrated telemedicine services into their operations. Moving to virtual consultations reduced the danger of COVID-19 transmission while patient care was maintained ^[27].

Since the first incidence in India was documented, COVID-19 has spread rapidly there. The authorities took many steps to stop the virus from spreading, including a countrywide lockdown in March 2020. These actions stopped production in most industries and outdoor pursuits except for canceled trip plans. These events engaged many middle-aged and young adult participants ^[28].

There has been a decrease in fracture reports, indicating that older people were more susceptible to low-energy falls due to their sedentary lifestyle and decreased activity during the pandemic ^[29]. Multicenter research found that older individuals had an increase in fracture cases. The majority of patients with low-energy injuries were found to be older. Reduction in fracture cases in contrast to the identical timetable in 2019, another element in 2020 merited consideration. However, health-care professionals should pay attention to this development ^[30].

CONCLUSIONS

In medical systems throughout the globe, COVID-19 has essentially impacted every facet of orthopaedic trauma clinical practice. Comparing 2020 to 2019 revealed a sharp drop in hospitalizations, outpatient care, and elective surgery. However, when COVID-19 patient cases rose, the pandemic's severity became even more severe.

To ascertain the effect of COVID-19 on epidemiology and orthopedics, this study may offer a new avenue for investigation. This study, which compiled the effect of COVID-19 on the epidemiology of orthopedic cases across several nations, is entirely unrelated. The research may aid in the researchers' rational conclusion-making and assist health-care professionals in allocating workforce and resources during this epidemic.

CONTRIBUTION OF AUTHORS

Research concept- Amaresh Prasad Mohapatra

Research design- Amaresh Prasad Mohapatra, Gopal Krishna Hembram

Supervision- Amaresh Prasad Mohapatra

Materials- Satyajeet Ray, Gopal Krishna Hembram

Data collection- Satyajeet Ray, Gopal Krishna Hembram

Data analysis and Interpretation- Gopal Krishna Hembram

Literature search- Satyajeet Ray

Writing article- Satyajeet Ray, Gopal Krishna Hembram

Critical review- Amaresh Prasad Mohapatra

Article editing- Satyajeet Ray

Final approval- Amaresh Prasad Mohapatra

REFERENCES

- [1] Harne NM, Maraskolhe DS, Pandhare ML, Rathod BT. Lockdown versus epidemiology of orthopedic injuries: our experience at tertiary care center in central India. *Int J Contemp Med Res.*, 2020; 7(11): 11-25.
- [2] Miki N, Martimbianco AL, Hira LT, Lahoz GL, Fernandes HJ, Dos Reis FB. Profile of trauma victims of motorcycle accidents treated at hospital Sao Paulo. *Acta Ortop Bras.*, 2014; 22: 219-22.
- [3] Zagra, L., Faraldi, M., Pregliasco, F., et al. Changes of clinical activities in an orthopaedic institute in North Italy during the spread of COVID-19 pandemic: a seven-week observational analysis. *Int Ortho.*, 2020; 44(6): 1–8.
- [4] Daniachi D et al. Epidemiology of fractures of the proximal third of the femur in elderly patients. *Rev Bras Ortop.*, 2015; 50(6): 371–77.
- [5] Battiato C, Berdini M, Luciani P, Gigante A. Impact of coronavirus disease 2019 (COVID-19) on the epidemiology of orthopedics trauma in a region of central Italy. *Injury.*, 2020; 8(6): 33-48.



- [6] Maleitzke T, Pumberger M, Gerlach UA, Herrmann C, Slagman A, Henriksen LS, von Mauchenheim F, Hüttermann N, Santos AN, Fleckenstein FN, Rauch G. Impact of the COVID-19 shutdown on orthopedic trauma numbers and patterns in an academic Level I Trauma Center in Berlin, Germany. *PLoS One*, 2021; 16(2): 46-56.
- [7] Puetzler J, Zalavras C, Moriarty TF, Verhofstad MH, Kates SL, Raschke MJ, Rosslenbroich S, Metsemakers WJ. Clinical practice in prevention of fracture-related infection: An international survey among 1197 orthopaedic trauma surgeons. *Injury*, 2019; 50(6): 1208-15.
- [8] Tian H, Liu Y, Li Y, Wu CH, Chen B, Kraemer MU, Li B, Cai J, Xu B, Yang Q, Wang B. An investigation of transmission control measures during the first 50 days of the COVID-19 epidemic in China. *Sci.*, 2020; 368(6491): 638-42.
- [9] Waris A, Khan AU, Ali M, Ali A, Baset A. COVID-19 outbreak: current scenario of Pakistan. *New Microbes New Infect.*, 2021: 100681.
- [10] Loeb AE, Rao SS, Ficke JR, Morris CD, et al. Departmental experience and lessons learned with accelerated introduction of telemedicine during the COVID-19 crisis. *J Am Acad Orthop Surg.*, 2020; 28(11): e469-e476. doi: 10.5435/JAAOS-D-20-00380.
- [11] Hashmi PM, Zahid M, Ali A, Naqi H, Pidani AS, Hashmi AP, Noordin S. Change in the spectrum of orthopedic trauma: Effects of COVID-19 pandemic in a developing nation during the upsurge; a cross-sectional study. *Ann. Med. Surg.*, 2020; 60(5): 504-08.
- [12] Maryada VR, Mulpur P, Guravareddy AV, Pedamallu SK, Bhasker BV. Impact of CoViD-19 pandemic on orthopaedic trauma volumes: a multi-centre perspective from the state of Telangana. *Ind J Orthop.*, 2020; 54(2): 368-73.
- [13] Signorelli C., Scognamiglio T., Odone A. COVID-19 in Italy: impact of containment measures and prevalence estimates of infection in the general population. *Acta Biomed.*, 2020; 91(7): 175–79.
- [14] Remuzzi A., Remuzzi G. COVID-19 and Italy: what next? *Lancet*, 2020; 395: 1225–28.
- [15] Court-Brown CM, Duckworth AD, Clement ND, McQueen MM. Fractures in older adults. A view of the future? *Injury*, 2018; 49: 2161–66.
- [16] Martin D, Miller AP, Quesnel-Vallée A, Caron NR, Vissandjée B, Marchildon GP. Canada's universal health-care system: achieving its potential. *Lancet*, 2018; 391(10): 1718–35.
- [17] Keshav K, Kumar A, Sharma P, Baghel A, Mishra P, et al. How much has COVID-19 pandemic affected Indian orthopaedic practice? Results of an online survey. *Ind J Orthop.*, 2020; 54: 358-67.
- [18] Upadhyaya GK, Jain VK, Iyengar KP, Patralekh MK, Vaish A. Impact of COVID-19 on post-graduate orthopaedic training in Delhi-NCR. *J Clin Orthop Trauma*. 2020; 11(Suppl 5): S687-S95. doi: 10.1016/j.jcot.2020.07.018.
- [19] Ambrosio L, Vadalà G, Russo F, Papalia R, Denaro V. The role of the orthopaedic surgeon in the COVID-19 era: cautions and perspectives. *J Exp Orthop.*, 2020; 7(6): 1-9.
- [20] Simon MJ, Regan WD. COVID-19 pandemic effects on orthopaedic surgeons in British Columbia. *J Ortho Surg Res.*, 2021; 16(1): 1-9.
- [21] Pradhan NM, Acharya BM, Devkota P, Gyawali B, Bhatta TR, et al. Orthopaedic services during COVID-19 lockdown at Patan Hospital, Nepal. *J Patan Acad Health Sci.*, 2020; 7(1): 19-24.
- [22] Al-Kulabi A, Mansour MA, Thahir A. The orthopaedic experience of COVID-19: a literature review. *Journal Periop Prac.*, 2021; 31(3): 102-07.
- [23] Guan W, Ni ZY, Hu Y, Liang WH, Ou CQ, et al. Clinical characteristics of coronavirus disease 2019 in China. *N Engl J Med.*, 2020; 56(22): 102-16.
- [24] Giacomo P, Damiano S, Elena D, Giulia B, Vincenzo S. CoViD-19 and ortho and trauma surgery: the Italian experience. *Injury*, 2020; 8(2): 78-88.
- [25] Chen W, Lv H, Liu S, et al. National incidence of traumatic fractures in China: a retrospective survey of 512 187 individuals. *Lancet Glob Health*, 2017; 5(8): e807–e17.
- [26] Lv H, Zhang Q, Yin Y, et al. Epidemiologic characteristics of traumatic fractures during the outbreak of coronavirus disease 2019 (COVID-19) in China: A retrospective & comparative multi-center study. *Injury*, 2020; 5(2): 23-33.
- [27] Best MJ, Aziz KT, McFarland EG, Anderson GF, Srikumaran U. Economic implications of decreased elective orthopaedic and musculoskeletal surgery volume during the coronavirus disease 2019 pandemic. *Int Orthop.*, 44(11): 2221–28.



- [28]Bedard NA, Elkins JM, Brown TS. Effect of COVID-19 on hip and knee arthroplasty surgical volume in the United States. *J Arthroplast.*, 2020; 35(7S): 45–55.
- [29]Giuntoli M, Bonicoli E, Bugelli G, Valesini M, Manca M, et al. Lessons learnt from COVID 19: an Italian multicentric epidemiological study of orthopaedic and trauma services. *J Clin Orthop Trauma*, 2020; 11(4): 721–27.
- [30]Askari A, Arasteh P, Jabalameli M, Bagherifard A, Razi M. COVID-19 and orthopaedic surgery: experiences from Iran. *J Bone Joint Surg Am.*, 2020; 102(13): 1126–28.

Open Access Policy:

Authors/Contributors are responsible for originality, contents, correct references, and ethical issues. SSR-IJLS publishes all articles under Creative Commons Attribution- Non-Commercial 4.0 International License (CC BY-NC). <https://creativecommons.org/licenses/by-nc/4.0/legalcode>

